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And Rabi Shimon said, what is the reason, etc.

OVERVIEW

v"7 said the reason why pw1 732 are 77vX» and the same for w1 pw, etc. (even
though their >v°w are different), is because they are suitable (71X7) to be Xnun
2wa.! Our mooin discusses the need for this reason

n1voIN asks:
= DY QY DT PPI9081T 1192 RNT NIYL INNY T8 NNT PHYS 99%249% NN

The 39 is astounded; why is it necessary for ¥'"2 to give this reason, for since

the Xn> 72 states that they combine with each other (pwn oy ~wn 2w oy 127, ete.) -
- D97 INMIVY POIVENT NVIY DITIY 1INT 1123 309795 11N 2)9a1Y NS )9 ON

Therefore the implication is that these materials are suitable to be joined, so

since they are fit for 8972, it is obvious that they combine to receive 9972 N2 -
= (8,097 PN AVINNY NYNA 13PIINTI D72 NPV NAXYIY NTHIY IINY N9 199N NI4T

For even a chunk of sourdough which was designated as a seat is ©37» X% as

the X113 states in 2L NPT P90 -
- AYHY HY WY 1320 MNP SN DI NNMIVA XD

And here we are discussing ©97%2 nRmW, since the m1wn states that the 7w for a

722 is three 0°ndv by three o°nov in order to be 0172 nXMIY 22pn -
= 49599 YWD /) DY /) 12AN 11 NNV )IvoY

For regarding n» nx», a 732 can be a8 Y2pn even if it is three nyaxx by
three nyaxX as I explained previously.

I'See R17 71"7 >"w1 who writes, MDY 1PM 172 02w YR OX 217 2WIR 1IVR 1MW N HW NYTN OR207 T 223wn 7178 OR
DRI 79107 252 RV J1INRY 2WIN RNV 1OV 7Y 11DV 12101 YXPAT R°INT 21T WM ARV X 702 ®owen vhy 2wh nov Dy
T2 °2Wn RIT AR TOPN PRY MM 223 Oy Mou? M. Basically this means that if one cuts to size two different materials
and joins them together to the size of a nov ¥ oY to be used for patch on the blanket of a donkey, this square of
material is considered a 2w and if a 271 sits on it, it becomes an XMW 28. The reason a nov ¥ 119V is sufficient and
we do not require the larger 2w mentioned here ("7 59 '7," % '3, etc.) is because there it was cut to size in order
to fit properly, however here we are merely joining together different pieces of material.
2 See previous 73271 1"7 '0\n (TIE footnote # 2 & 3) that we combine only these materials which are usually
combined. However, we do not combine items which are not ™X, so since it is 77212 X1, and when they are
combined together they are 0771% "R, so why should they not be xnun?!
3 01 (treading) refers to the 21 n¥™ W where he is Xnv7 all objects upon which he sits or lies (even the lowest layer)
and they become an n¥n10i7 2R, provided that these items are used for sitting or lying. In this case we are combining
materials which fit together and are usable for 20wn (lying) or 2w (sitting) on them. They are 071727 1n.
45733 7"7 8,11, Therefore we must be discussing here 0772 nXmw and since he combined it so that it is suitable to be
used as a 2w or 20wn, it should be 0771 NRMY 22p1 no less than a MKW no1>. The question remains why do we need
the reasoning of w"1?! See ‘Thinking it over’.
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N190IN answers:
- DY KN 93990 K9 DYV 5¥ YWY 130 59NPT XD OINNT DN 19539 919IN)

And the "' answers, that certainly this which the 71wn taught that the My w of

the 732 is three by three o°1ov that is only regarding ©97%2 nXm1Y, for regarding

nn nRML, a 732 will be a8ML 22pn even if it is MY2IR '3 5V '3 -
= 5375 P92 095 NHVMNA NNN 291 HN NNV 1) 99910 9N N PYT XD YaN

However the 820 of the 71wn regarding the Y22y 9w pw (whose oy w are '71'7
" squared o°mdL respectively) that My w is also regarding n» nX=w and not only

0777 XYY, for this is what this 71wn states in 1''59 2% 'on -
= DN NINMVY (/) DY 7) IVN ©Y1I5] NYHY by NwHY 1)an

The My°w of ‘the 732 is three by three 2°15v [for ©97% NXMY, and three by three

MyaxX] for n» NRWIW’; there is a difference by 732 between 0772 N (2°00 2"va) and NRMD

nn (Myaxx 2"va). The mwn continues -
= 90 NPV P2 D91 A NY Y DY ) NaNN A DY N NN 1 by 71 pun

‘The pw is four by four, the 9w is five by five, the Y52 is six by six (all these in

0°rov); this Myw is the same whether for 2972 nXMv or whether for n» nxmw’ -
- PPN D192 DY 195 I8P NN ©/YNY NN

However the Xam3 here cites a shortened version of the 71wn, as the XX is

accustomed to do in many places, therefore we mistakenly assumed that it is only

regarding 077 NDRMAY -
= 599910 11N XIYA 1999081 DYV N1 INRP 1D NNV D)

And it is only regarding n» nx=w that v"1 asks, ‘why are they 1°29u%% in a case
where he did not designate it for oa7»°?’7

mooIn deviates slightly:
= 8891 YIPT GIPIEN RNYV INN TI9N ND)

And this reason of "1 is not required regarding the combining of 9% and y2% -
- DY7Y 1THPWA 139917 ATa NNVWA KYN H112 NHPVM XY \9nT

5 '3 mwn. This is the 7awn which the X713 cites here (slightly differently).
6 w"1 is explaining in a case where one was 77%n (for instance) a W1 pw (whose DWW respectively for nn nRaw
[and ©777] is 7"¥7 and 2°ndv 7"vi), and he did not designate them for 2wy or 20wn (he wanted them for a curtain),
and nevertheless they can receive nn nxmw. The question is since they are not 07171 Xawn (for 07TM7 177° R?), so why
are they nn nR»W Xnwn (since neither has its required Myw)?! See following 2°x171 7"7 '01n [TIE footnote # 10], for
the explanation of w"9 (according to NM»voIN).
" However if it was 072 17 there is no need for any explanation; they are 0771 nxmw Xnun for they are no worse
than a 72°w°? 177°w RW N9 and they are also N» NRMIL RHVA since N NRMPIY RHV 077 KA 22 (see footnote # 10).
8 [A yon is a mat made from reeds.] The reasoning of w"A is only required for the m7°X of 7w pw (see footnote # 6)
and (perhaps) the 717°% of pw1 733, where he combined a 732 less than Myaxk 2"y with a pw which was missing less
than NMyaxx 2"va to make the pw MMyw of o°ndv 7"¥7 and together they completed the My°w of o°now 7"v7. See MvOIN
w"&7 for a different way how the 722 and the pw are A vxn.
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For a yo» (a mat of reeds) is not n»a X»w»,” unless it can be 82 2pn from a

21, meaning in a case where the y9» was designated ©97%%, only then can the y92 be

nn NRAI 92pn -
23,79 1p%) NAYPY 229 P99 1999NTI 1°0%0P 19999 99N Y1)

And that is derived through the 1" from 2°1up 25 as the Xn»12 states in P9
¥

SUMMARY

The X711 is searching for a reason why they are 77w for N NXMIW in a case where
it was 07717 177° X2, Anything which is designated for 0771 is 0771 NXMIY XnvA (and
also nn NRMD).

THINKING IT OVER

Why cannot we say that w"1 is explaining why they are 071742 77v¥n, and as to the
question that since they are 07717 "7 they are not worse than a 777°% RW N9
72w, we can answer that by a MRWw no1 he specifically designated it for 727w
(therefore it 1s D77 NRMIV RMvA), however here when he combined the materials he
had no specific intention whether it should be for (07771) 2w 20wWn» or for another
purpose, therefore we need an explanation why is it 0372 nX™IL? A VA2 12

® A yonis a yv °72 "0ws, which is not W nxmw S2pn. We only know that it is na nxmw Hapn from a 1"p (see footnote
#10).
10 m30p 129 are small earthenware jugs, which are not 0772 T2 (no one sits or lies on them), and the a1 cannot
place his finger inside them (because their openings are too small. Therefore they cannot become X»v from a 271, not
through 217 0777 because they are not 01717 Wy, and not through the touching of the a1, since they are 071 °%5 and
are only RXnvn from their insides (and the a7 cannot insert his finger inside them). The 1"p is as follows; 2°1vp 125
cannot be XMW 92pn from a 21, nevertheless they become nnit 2782 Raw (the IRMW enters into its openings), so 752,
which can be nxmw 93pn from a 21 (since it is designated for 25wn; it is made to lie on it), so it can certainly be 22pn
nn nxnw! Therefore since N NXAW by a von is only because it can be 21 N 93pn, therefore it is N NRML 22PN
only if 01717 171> and can be a1 nxmwv 23pn. In that case if it is 07712 171> we do not need the reasoning of W' as
moon explained at length. We only need the reasoning of w"1 by items which were not 01727 1717°.
!1'See footnote # 4.
12 See 0"n and XIN2 KA.
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